Name: Class: Date:

Precalculus G11 Ch5 H.W.

Indicate the answer choice that best completes the statement or answers the question.

1

1. Simplity To T + Cosx—1°

a.—2cotxcscx D. 2 ey

C. Zeaciy d. —2tanxsecx

tan 145 —tan 25
1 +tan l45tan 257

2. Find the exact value of

a. .f3 b.—.[3
C. 3 d_,\l@
3 3

3.Ifcsc 0 =88, find 05 (6= 2]

a.-011 b.011
c.—8.8 d.8.8

4,Solved + 2cosx =4+ 2cosxfor 0° = x = 12807,

a. 90° b. 180°
c.0° d. 30°

5. Find the exact value of cos 113—; + cos f;—g.
a . fg b. .[2

2

2
C. ﬁ d.ﬁ
2

- 2
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tar 129 + tani—69)

6. Find the exact value of [~ tan 120tan(—69)"

a.ﬁ b..[3

3
C.-.f3 d._ﬁ
3

7. What basic trigonometric identity would you use to verify that tan x cos x = sin x?

a. 1 b. . 1
COSX = SNX =
SECXE CSCX
C. cos x+sin‘x = 1 d. S X
fanx =
COSX

8. If sin 6 = _0.5, find SeC (E‘— 2

a. 0.5 b.2
c.—2 d. 0.5

9.S0olved4—ficosx=38-2cosxfor 0° = x = 1807,

a. 0° b. 30°
c.180°  d.90°

o o . sin“x + cos x
10. What basic trigonometric identity would you use to verify that ——

= zec x?
cosx
a. . 1 b. 1+ cot?x = cscx
S =
cacx
C.coslx+sinx=1 d l

cosx =
SECX
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Solve each equation for all values of x.

11. 2cos*x—7=-7

o

a. Ry

2

+
=
=

+

o
0 R

+2ng

X
2

C'£+m‘r3—r+mr
g TR

1
SEC X+ 1 secx—17

12. Simplify

a —Ztan’x b. -2 cat®x

. 2 3
C. Zsinxsec™x d. 2cosxsec®x

. 4 ] .
13. If stn &= Eand 0 terminates on the interval

0 2

7 7
N P R A P
7 7

15. If cos &= gand cec &< 0, find sinfand tan &

a. fi5 b. [65
cscé=44/9, tanb= ) siné= 4, tan &= 4—

Tsné= — 4 tané'—; d s O “4";_’1: o= “"I{_

} find the exact value of sin 26.
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Solve each equation for all values of x.

16. 8cosix—5=-3

a'£+m’r5—f+m’r b'£+2ﬂf2—f+2m’r
fi A 3 T3

cx nx 2x px dx o2r o
3 273 2 3 T3

17. Write cos(arcsinx + arccos 2x)as an algebraic expression of x that does not involve trigonometric functions.

a'2xxl'r1—x2—x«4'r1—4x2 b'x 1=

C'x«.n'l—4x2—2x 1-x* d'xw{l—xz—xu{l—zxj

3
18. If sin 6 = =g, find csc 6.

a 8 Db 3
3 8
c.3 d.-8
A3
19,sm2x+T=El
T mE i m b'£+2m—z5—ﬁ+2m
3 T3 3 T3
C'E—H+M'5—H+m d'z—ﬁ+2mj—f+2m
3 T 3 T

20. Write cos{arcsin 2x + arccos x)as an algebraic expression of x that does not involve trigonometric functions.

a'x«fl—zxz—xw{l—xz b'—3x«.|'1—x2

C'EX\!l—xj—x«Jrl—dlxz d'xw'rl—dlxj—zxw{l—xj

21. Simplify cot X — csc X cos X.

a. cot X CsSC X — cot X cos X b.0
c. 2 cot X d1

22.Iftan 0= 2.8, find cot (8- %)

a.—2.8 b.0.36
c.2.8 d.-0.36
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23. Solve sin 2= /2 cos on the interval [0, 2r).

a.

=]

T b. 3

=
=

, I,

-hl:q
|

LIA]

C.amw

T:

3x
' 4

el hln

Ll ™

R m
"4 7
Iz 32 dix x
"4 22

24. What basic trigonometric identity would you use to verify that cot x sin X = cos x?

& cosx+sinix=1 b. CosX
cotx =
st x
C. 1 d 1
COSX = SnX =
SECX CSCX

25. Simplify (tané— sec&)’,

a. sin&-1 b. 1-zané&
1 +:amm & 1 +:amm &

C. tan® &- sec’ @ d. sec? &—tan’ @

26. Use a half-angle identity to find the exact value of cos §7.5°,

)

2+ 2+
2 2

)
b

27. Which of the following are the solutions of cns[% + x] + sin[% + x] = Oon the interval [0, 2r)?

a. b= b.

c.0

e

Y R Y

i
"2

28. Which of the following are the solutions of cot*x+ 2 = 2cscxon the interval [0, 27)?

a im b. 0. =
2

c.zx 3r dzx
E d
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cosx—1

l-cos*x

2 2 2 2
ad cot*x—cacx b. cactx—cot'x

C. CDt2x+ ESCEX d CannOt be Slmpllfled

30. Solve s 2 &= cos &on the interval [0, 2x).

ajr x x Sx  boxox
272767 6 278

C.Dﬂ_Eﬂ_ﬂ' d3zx & 7x llx
3T 3 2727487 6




